alculus AB Unit #3 Notes
plications of Derivatives: Important Theorems

#ean Value Theorem

If the i i - {
e b)flilrr\\g’::cmf IS co_ntunuous on the closed interval [a, b] and differentiable on the open interval
» D), ere exists at least one number c in the open interval (a, b) such that:
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If the function f is defined on [ANalibY O 4= 3/x, show that the MVT can be applied to
f and find a number c WhICh satlsﬂes the conclusion_
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Example #2
Sketch a graph of the function fif f(x) = {
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Show that f fails to satisfy the MVT on the interval [-2, 2].
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Suppose that s(t) = 2 — t + 4 is the position of the motion of a particle moving along a

line. 5!({_):2-&_ l
a) Explain why the functlon s satisfies the hypothesis of the MVT.
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b) Find the value of tin E) 3] where instantaneous velocity is equal to the average velocity.

Example #3:
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